DEADTL—FIAT —
EP TP-3Px6/3 BB WXI-44x7x55 CB TB-D6 0-65x40x3.2

(tm/y2)y NI
N —
_____¢’_______ For——r— > — 1’4 =
1 L T+ =
m———ek
3
—x
3
L % L
S %
3
3
F——
3
3
i
IEREEREEREERER] ok =
0 =
495
44| 65
P33
109
\ | 3
N 00 0 0 0 0 0 0 0 A 0 0 _0_T a~
o S
NS ]
10 475 10
WXI=44x/x9.9 0 & 2
P33
7 [sex| 7
1126711
D = I T N & | 8 f & E e
L Bl V=X 49-744 C [ H® = )
SS400  HREND- ¥ | £ Bl =
337 | 1 ARDH T-6 UKoY d9-744 aC |N| /5| AP RRMESRR SR
MB| M B-% @ U 2 B = & g| FBAS TEL (06) 6488 0500 8) FAX (06) 4S8 0505

FEIDORRITIARITHENO £, TIREAFENEY



EP TP-32x6/3

BB WXI-44x/x3.9

CB TB-006

\ /(tﬁ/ Y2y T /
¢’_

-

495
P33
T _
\ I 3
A 00 0 0 0 0 A A 0 A 0 _0_[ o
% —
SES Fomee S =i
L
10 475 10
WXI-44x/%9.9
P33
/] | 3&g | 7
TIee Ll
55 [13&%[] 55
275
7[/‘-"5-\/9 1 88400 EE@%‘&){)% '|'_6
m % (B M BE-x @ W E B =

D9ADTL—FIT —

0-60x40x3.2 FIARw E =5
O =2
5 UL % =
m———ek
)
—«
Vel
(Ngp)] % (Ngp]
(@) o
Al P o
L
i)
o
el
el
Al
e 4 =
o =
441 60 5
109
1t) 7 &2 El
25| i F R T B fit i ] B X4
@ WKV-X49-744C | B B 88 & I
I Ve 20160509 |y
% g| AEAS TEL (05 o44e 0500 (1) FAX (o6) okt 0505

FEIDORRITIARITHENO £, TIREAFENEY



EP TP-32x6/3

\

BB WXI-44x/x3.5

CB TB-06

/

2

(t&/ vy I /[_______

495
P33
T
\ |
T T T ST N o O « T T R 4 7, o~
g S
e == e 4
LM
10 475 10
WXI-44x7/x9.9
P33
/| g&% | 7/
1,1 2671,
55 [L3&%[] 55
275
SL-3v5 | 1 SS400 BatEzmd - & T-6
e % (BB M E-XK B YU OIE w® &

DIADIL—FIT —

O0-60x40x3.2 /3bRy ¥y £=5
N / =
€ lIL*x <
i)
9
>
¥
>
L % L
AN A
L
i)
>
>
AN
o $ <
O =
44 |_60 2
109
{il & 58 Ff
25| i EFE A T B At i ] B 3
& WKV-X49-744C |2 B H Bl# = &
S INIDES 20160509 |
ta : &
WKV-x 49-744 ac 5| 5 | S RAESEKK £
% ! TEL (06) 6458 0500 (f£) FAX (06) 6458 0505

FEIDORRITIARITHENO £, TIREAFENEY




58 i 4 g 7 £
&l Af
o IFIREES WKV-X 49 - 744 o BERAWE T-6
o HI B <tk 495 x L x44 o JEFHiEIE 400 mm
o [FRRZE ;& o X714 8- WXI-44x7x5. 5
)Y
* 1% il — Wi Aoy TR P = 24 kN CEwF Po = 33 mm
F HERE i= 0 CEEHRE Z = 1574 md
- EHEEZEELRFE P, = 240 kN
- BEE R axb =200 mm x 240 mm
- X EEERE 0= 395 mm
s ARTYUGNR—AARER 4 = 240 mm
CRTYDGN——KREHEMRLE L TEHET S,
- ARG Op = 0.180 Kk N/mm?
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e HlFE—AT K M

P xPy
W= axb
240 x 33 _
W *m— 0.017 kN/mm
M :%xw x 0 x (20 — 91 )
:%xo.ow x 240 x ( 2 x 395 — 240 )
= 272.3 kN-mm
o5 Hh: O
M 272.3
—_—— e = <
o 7 57 = 0.17 kN/mm2=ob
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